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Lo e AU (Linear Transformation) J&*1#” 1. T: R2 — R3]
_€x#Ker (T) ‘Vector U¥ e EUIT (x,y) = (2x — y, —8x + 4y)
(1,1 (© (5,10) (b) (3,2) (a)
Ty(x,y) = 2x,3y), To(x,y) = (x =y, x + y) L& #T,0T; (x,y)
-2¥ (about origin) ;< 4~(formula) bL>¥Taylor Series
-2 Euler’s formula &= £ 15 Homogenous function G n i f(x,y) /i
-UtLinearly Independent » v; = (—3,7),V, = (5,5) vectors J 2>
_&¥ (Definition)—# 7 §Linear transformation
d—ncos(ax +b) ="
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x+ay+z=3, x+2y+2z=b, x+5y+3z=9
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LUe Basis) WK RS S = {vy,v,,v5} W/

v, = (1,1,1),v, = (1,1,0),v; = (1,0,0)
J/‘LC/JKLinear Transformation))g"!ubung: R3 — RZ .4
T(v1) = (1,0),T(vy) = (2,-1),T(v3) = (43)
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p"‘” = d/ A’ sl (Diagonal Matrix) J (s d/ J1' Modal Matrix é L (Matrix) A U }'LJ ¢ (11
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Null ' (Rank of A) »/6' A '(Basis) U'\-/§ Row space ' Row Space é L (Matrix) A u’}'l.d/w (12
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b—a -1 e -1 b—a - 7 5 .
7= <sin b — sin a<\/1__l)2gn0<a<b<1ﬁfé.f.t ()13

_é.’:l’”(Maclaurin series)‘/“ju'}uﬂé» Ssin™ x (b)

_é J (By changing order of integration) Sdaes a3 ,}:f (14
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